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20188 &= =0l &t LB OleHdeta
SN DIAEEA
HE: HMEBAUSY
Sol: MEAYTBUF CERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol & &t 7,685,501 2,710,960 4,974,541
Xl 2,354,000
< 500,000
s 4,831,501
HEAMNEEY 984,000 258,700 725,300
< 400,000
[ia 584,000
HSAGE=2LFA 984,000 258,700 725,300
< 400,000
[ia 584,000
HEALY =& 34,000 28,700 5,300
201 et 15,000 10,200 4,800
01 At 22l 15,000 10,200 4,800
W HAMART 2E 442
5,000,000 = 14l 5,000
W AAAET UM M S
10,000,000 * 14 10,000
202 044l 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
] MESAY =& 0l 10,000,000& * 14 10,000
203 B R =&l 5,000 5,000 0
03 AIMF=XH 2 =AH| 5,000 5,000 0
m MEAY HRFZ 5,000,000 =+ 14l 5,000
301 et a = 4,000 3,500 500
09 HALAHIE& S 4,000 3,500 500
m AL 3o HFAT 24
8,000& = 100Y = 53] 4,000
MO 50,000 230,000 A 180,000
207 & O &l 50,000 230,000 A 180,000
01 2284 50,000 230,000 A 180,000
m MEAY AREA 50,000,000& * 14l 50,000
EHet v HE =4 800,000 0 800,000
< 400,000
i 400,000
401 A& HIZ 201 8] 800,000 0 800,000
< 400,000
e 400,000
01 A& HI 794,960 0 794,960
w EHOHUWVRHE &AM
800,000,000 * 99.37/100 794,960
< 397,480
s 397,480
03 A& =2 THHI 5,040 0 5,040
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M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
m EHOHUVRHE XA ALY
800,000,000& * 0.63/100 5,040
= 2,520
= 2,520
A0l U= ==& AIEXZY 100,000 0 100,000
201 gBt24d| 80,000 0 80,000
01 AP 22| H| 80,000 0 80,000
m EA Y 2HAIE 2 EX
80,000,000 * 14! 80,000
401 AlEHIZL 201 Y| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
m E& AX JlEt =4 20,000,000& * 14 20,000
cfaEygolZet= 575,000 0 575,000
MEAIHD|BIAIE R F 575,000 0 575,000
EfOF GHOH HOI=IF 8 XA 300,000 0 300,000
401 AlEHIZL 201 Y| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
m EHOH SHOH HOIEI EXNAIY EX 04
300,000,000& = 1A 300,000
OHEHE BR+H MHE ALY 275,000 0 275,000
201 et 9| 5,000 0 5,000
01 AR 22l ] 5,000 0 5,000
W HMYSBISSEI AL 2D
2,500,000& = 23| 5,000
401 Al HI L 2 0HHI 270,000 0 270,000
01 Al& H| 270,000 0 270,000
m HEHEHE HE L Z2R=H g JI2H
g g9 200,000,000 = 14! 200,000
m MestAASEHIL A9 70,000,000& = 14 70,000
DIHE AL AR L= 3,684,000 800,000 2,884,000
Xl 1,554,000
= 2,130,000
SN HEAEES 3,684,000 800,000 2,884,000
Xl 1,554,000
= 2,130,000
HALQUSXK(BHAET2H ZHAIY) 3,684,000 500,000 3,184,000
Xl 1,554,000
= 2,130,000
401 Al HI L 2 0HHI 3,684,000 500,000 3,184,000
Xl 1,554,000
= 2,130,000
01 Al&H| 3,674,054 500,000 3,174,054




AN Dlefdeta
HE: DleHE ALY KR
Sl FBAASNANIAMLSH (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
m EHS E2A(LLISO0l dH) Z&8AY
3,674,054,000& * 14 3,674,054
Xl 1,549,805
s 2,124,249
03 Al S THHI 9,946 0 9,946
m Bt S2A(ULISO0l dEH) ZHAE
9,946,000& * 14 9,946
Xl 4,195
fia 5,751
AESJisstd a2 ALY =& 630,000 150,000 480,000
< 100,000
s 530,000
det2t B AL =& 630,000 150,000 480,000
< 100,000
s 530,000
Ghe| i MEATE JIBHAIE &X 150,000 0 150,000
401 AIEHI L 20HEI 150,000 0 150,000
1T A& HI 150,000 0 150,000
W MZOHLHE AXI 50,000,000 =+ 14l 50,000
m HOAIHE &HX 100,000,000& * 14 100,000
Cre|ZLIOF ME HEDSFHEH 2HE 89 200,000 0 200,000
< 100,000
s 100,000
207 A RO H] 200,000 0 200,000
< 100,000
s 100,000
01 2739l 200,000 0 200,000
w Ste|ZLIOH MY M LSHEH 28 EBEY
S8 Q2N 23 dPE
200,000,000& * 14 200,000
< 100,000
e 100,000
HEQEY 28a 2= & 2E=ME, 22 80,000 0 80,000
201 ¢4l 80,000 0 80,000
01 At 22l 80,000 0 80,000
m MM M2 BEO 2 UEE
5,000,000& = 14 5,000
m =28 2ZQY SFEHA
20,000,000& =« 14 20,000
m ALES 2HS € EEE WA
5,000,000& = 14 5,000
m KTX Oh A& 2 ALEX S J1=2&1
50,000,000& * 14 50,000
HEHAANO JIsiHEL=s 28 200,000 0 200,000
403 A X EHHS 20l A 200,000 0 200,000




SN DIAEEEA
Ha: XSS HABBAYE
Sl MABBAYSZ (B9 ®R)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 S 2S0CHet A =& 2 & AL H 200,000 0 200,000
m oH LAHNO JISTHE =2 A7 8
200,000,000& * 14 200,000
ol atd Mty =& 1,750,000 1,400,000 350,000
X 800,000
s 950,000
o2 ay =4 1,750,000 1,400,000 350,000
Xl 800,000
s 950,000
HY2AZTNRAANLEXNA(ZSE LISSFH 22 1,600,000 1,400,000 200,000
B 48 MY
Xl 800,000
e 800,000
401 Al HIZ 2018 1,600,000 1,400,000 200,000
Xl 800,000
e 800,000
01 A& HI 1,569,760 1,373,540 196,220
m =S UES =8 iS22 NE THAE
1,600,000,000& * 98.11/100 1,569,760
Xl 784,880
[ia 784,880
02 2eltl 24,480 21,420 3,060
WYY LSS Fo HYBZNE ILA
1,600,000,000& * 1.53/100 24,480
Xl 12,240
[ia 12,240
03 Al CH Bl 5,760 5,040 720
WU USS =8 HYBZHE TLAL
1,600,000,000& * 0.36/100 5,760
Xl 2,880
s 2,880
DICHCHAM =3 =S =3t AE AtY Y 150,000 0 150,000
207 Ao 150,000 0 150,000
01 23329l 150,000 0 150,000
m ol=E=3 A& A EIEd ZA HL2EH
150,000,000& * 14 150,000
HE2LZH (Ol A) 62,501 102,260 A 39,759
Jl2Zdl(0leh&ea) 62,501 102,260 A 39,759
Jl2Zdl (0l ekal) 62,501 0 62,501
201 £B-2%H| 29,321 0 29,321
01 At 22l 29,321 0 29,321
m DleHMStA det=ZH| 20,361,000& 20,361
W OleHEA S2ZRV AL
8,000& = 14% = 80 8,960
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IS ZU(DHE )
Colezi(0n M)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 26,880 26,880
01 = LHA YI 26,880 26,880
m DM HRFA 0l 26,880,000& 26,880

203 YR =&l 6,300 6,300

01 JI122E =4 3,300 3,300
m DlcHd&AE 275,000& » 123 3,300

04 FEXNSELR=LH| 3,000 3,000
w OjcHd™eta 250,000& = 12& 3,000




